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M1 X 20148 % A - MS 0SS & 3AHEZ LA NLE = A= FHOH2 s 20 (ol M)
-+ =2 Ng - HE0&tEN 2 Al Xt Bt N
g A 534,484,420 16,034,533
& B3 Al 483,650,583 14,509,517
SEE3A 50,833,837 1,525,015
SILSES A 36,146, 145 1,084,384
St ALY SE3H 19,525,966 585,779
=AY SE3 16,620, 179 498,605
JIEtSE3 A 14,687,692 440,631
2 E2SH SE3A 1,954,055 58,622
s3EXxd S 9,799,265 293,978
FUASAMY S 1,857,319 55,720
AZXFAHNEAMNS SEAH 701,905 21,057
F=AEAMY SE3 375,148 11,254
M 2= N - AHMsua SAle 88 "AY - MSOA"D 20,
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H o4 X HSH AMHE [HEAB]22 &L
M5 X AMDOIE At 2 €38 "AFDOIE MXZAN"2 20
H 6 & B3/ H odldl= 3,458,907 322 &Lt
o7& NS Y s=H2 13,000,000 222 & C.
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